Wednesday 13th May 2020 
Lesson 3 EXTENSION: reasoning & problem solving

1. Noah is shopping. 
A tennis ball costs 70p.
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The difference between the price of a tennis ball and a golf ball is 20p. 
        How much is the golf ball? Prove it.

2.  Leo is saving up to buy a football. 
He thinks he needs another £1.
[image: ] Is he correct? Prove it.








3. Aleena has £11 and 52p. Some money has fallen out of her pocket. 
These are the coins she has left. 
What coin(s) could she have dropped? 
Give two possibilities. 
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7. Add notes

1a. Hannah is shopping.

A flower costs £2.

The difference between the price of a
flower and a plant pot is £1.

How much is a plant pot? Prove it.

1b. Noah is shopping.

A tennis ball costs 70p.

The difference between the price of a
tennis ball and a golf ball is 20p.

How much is the golf ball? Prove it.

2a. Ray is saving up to buy a windmill. He
thinks he needs another £1.
Is he correct? Prove it.

2b. Lucy is saving up to buy some sweets.
She thinks she needs another 10p.
Is she correct? Prove it.
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baseball and a football is £3 and 10p. pineapple and a melonis £1 and 20p.
How much is a football? Prove it. How much is the melon? Prove it.
R R

5a. Joe is saving up to buy a magic set. 5b. Leo is saving up to buy a football. He
He thinks he needs another 79p. thinks he needs another £1.
Is he correct? Prove it. “ | Is he correct? Prove it.

éa. Lee has £5 and 31p. éb. Lola has £12 and 21p.
Some money has fallen out of his pocket. | Some money has fallen out of her pocket.
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9a. Chris has £9 and 22p.

Some money has fallen out of his pocket.

Two 1p coins
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These are the coins he has left. What
money could he have dropped?

Give two possibilities.
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9b. Aleena has £11 and 52p.
Some money has fallen out of her pocket.

These are the coins she has left. What
coin(s) could she have dropped?

Give two possibilities.
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